5031F

5031N




5031N

2/19

81

81

NR ELEMENT

E3

E4




5031N

NR ELEMENT

E7 —

E3

ES




5031F

4/19

81

81

NR ELEMENT

E3

E4




5031F

NR ELEMENT
E6 &>
e7

\C




<>

5031N 5031F

Nr Element 2 2
4 DIN 125 | 10x20 (OC) 12 12
5 {0 DIN 985 | M10(OC) 12 12
22 DIN 125 6x12 8 8
30 DIN9021 |  8x24 48

31 DIN985 | M8 (OC) 32

58 % - LOCTITE 1 1
61 H - KL105 (OC) 14
106 ) | DING03 | M10x110 6 6
110 : ) DIN931 | M8x35 16

118 —— ISO 7380 |  M6x50 8 8
145 T DIN 603 |M10x30 (OC) 6 6
190 % - K_B_1 4 4
193 T DIN 603 | M8x20 (OC) 16
213 @ ; Z NA_1 1 1
214 @ - Z NA 2 1 1

6/19




5031N

5031F

7/19




5031N

g T— L
5031F
o EJ —_————— L
HiH
5031N
5031F

100

-~

100

38
238

8/19




5031N
5031F

1




Element

5031N
5031F

2




Nr z Element

DIN 125 | 10x20 (OC)

DIN 985 M10 (OC)

()]
»
8| B|©

30 48 DIN 9021 8x24
31 32 DIN 985 M8 (OC)
|
nr17 c/'/’/?— —

|
\;%é 110 | 16 ) | DIN 931 M8x35
|
1; 145 | 6 DIN 603 |M10x30 (OC)
T
|

i

193 16

DIN 603 | M8x20 (OC)

nr13 I

i

.
)l

z ®

nr13 \

—_—
—
—
—

ﬁaﬁ’%:&ﬂ\@

L

11/19




Nr Element
(3)5031F
4 DIN 125 | 10x20 (OC)
5 HO) DIN985 | M10(OC)
145 T3] | DIN603 |M10x30 (OC)

nr17

12/19




5031N
5031F

13/19




5031N
5031F

Element

K_B_1




5031N

5031F

nr17

Nr 2 Element
4 6 DIN 125 10x20 (OC)
5 6 (@ DIN985 | M10 (OC)
106 6 ] | DIN 603 M10x110

15/19




5031N

5031F

Nr Element
22 DIN 125 6x12
118 (| 1so7380 | Msx50

16/19




8

5031N

5031F

Nr Element
213 @ Z NA 1
214 @ Z NA 2

17/19




@ 5031N

B25 0,3m

o

3

min. 24H

4w

%W’W,%
i

(o

18/19




KL105 (OC)

19/19

aa_-.

NI (¢ )

NN

=




